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SARDAR PATEL UNIVERSITY(B.Sc. Sem.1 On Demand Examination (NC})
MATHEMATICS - USC1IEMTHO2 - ELECTIVE MATHS
2.0 June 2022, Menday
Time Duration: 02 Hours, 4:00%m e fi:00p Maximum Marks: 70
Note: Figures to the right indicates the full marks.

Answer the following by selecting the correct choice from the given  [10]
options.

The domain of function f={ (1,2}, (2,5}, (3,8), (4,11) } is

(@@ (b){1,34} (c) {2,5811} (d} {1,234}

The value of i13= , '

(a)1 (b} —i (¢} i {d) —1

if log, 16=4 then

(a)2*=16 (b) 4°=1/16 (c) 42=16 (d)2"=1/16

The Range of tangent function is =
(@R (b) [0,1] (o) [-L,1] (d) {-11)

The set of zeroes of cosine function is .

@@ (b){kr/keZ} (c){(2k+ 1)3;- /keZ} (dyR"u {0}
The inverse of the given matrix A does not exist if

(@) [Al=0  (b) |[A|#0 (o) |A]>0 (d) |Al<O
4(1,2,1)+ 2(1,3,3) =
(a)(6,10,14) (b)(2,5,4) (c}(6,14,10) (d}(10,6,14).

A row matrix is of the order

(@)lxn (b)nx1 (mxn (dfnxm

Forx = (xy,%2,%3) € R3then T X ¥ =

(@0 (b)O (c)x (d) —x

if X&Y are two vectors, thenx -y is .

(a)vector (b) scalar (c) magnitude {d) None of these

Answer the following.(True/False) | [08]
{is an imaginary number.
The modulus of a complex number z is denoted by ||
sin(z—l— 9) = %coéﬂ
2
(am)n = gmtn -
Matrix multiplication is distributive.
(AB)T = ATBT

o)




If¥ = (2,1,0),7 = (0,4,—3) then ¥ - y = 4

[£X = (x1,x%3) then \/x7 + x2 + x2 is called square root of %,

Answer ANY TEN of the following.

Find inverse of a complex numbers (7, —4).

Find modulus of 1 — 1.

Find range of f: R — R defined byf(x) = i
Solve:slogx —log(x — 1) =log3.

Prove thattan 81" = f:gjz_l\/gzﬂi :

Prove that 1+tan®8=sec?0.
Define Skew - Symmetric matrix with one example.
b2 +c¢? c?+a? a?+h?

Prove that{ 2 b c? = (.
4 3 1 1 1
IfA:[Z 1]then_ﬂnd|A;.

Solve : x(1,1) + v(2,1) = (3,2).

If x=(1,1L,1); ¥ = (1,2,5); Z= (1,2,3) then find (2x+3y)-Z
Evaluate: |(2,1,1).(-1,2,-3}].

Answer ANY FOUR of the following.

1 2 i
Solve: —— = .
x-3 x+4 x+6

If(3x, 2y) + (v, —5x) = (4,6)then find (x, )& (xy,x—v).

If tan @ + cot @ = 2 then prove thattan™@ + cot™@ = 2 ;n€EN.

Simplify:7 log(g) —6 Iog(lis) +3 Iog(%).

IfA = [_31 ;] then prove that A* — 5A + 71, = 0.
1 31.,_ 11 4 T . pT AT
FA = [2 4],3 - [2 5] then check (AB)” = BTAT.

If 2=(1,1,2); ¥ = (1,2,1); Z = (2,1,1) then find & x (J x 2).
Find the measure of the angle between (1,1,2)&(2,1,1).
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